RAE6S(ZED2)

R X & E
SREBETBERA
AHE {8
1 I8 A
(B M)

a—K 18 B * % fim =

1 |BBEFBERMNE 960,000

2 T O fh 0| EEFIFFH

a H 960,000
2 X H
(B4 H)

a—K| @B H ® B fis il

1 HEARE 0

2 m o # 0

3 L #® # 0

4 | L B & 0

5 |EF-HETEE 0

6 | & & # 0

7 | EHERE 319,777

8 BEHMBAE 48,400

9 A B & 360,000

10 |fFHBE-RBE 152,896

" | =% m & 44,248

a8 & 925,321

3 & %

34,679 H




AH fFB=E

N—T =]
X & N o
R %X = 5| & 3
15
(1. % 2. PA B. ZH) 7 B| ERMERE
£
zR%s| HH ES I'YN X H e (RED | BE

1| 68168 |aE—¢ 1 1
2| 6A228 |EHEAMRRK 807 808
21| 7TR16B|EHBAARKE 448 1,256
22| 7TR16B|EHBHARKE 1,449 2,705
23| 7TA168 |EHRARKE 936 3,641
24| BA11 B (EHRAAKE(Eith) 1,310 4,951
25| 9A8H|ICLO—4%— 15,714 20,665
26| 9A8H|EHBHARKE 2,379 23,044
27| 9A8H|EHBHAARE 2,952 25,996
28| 9A8H|EHBHAERKE 3,456 29,452
29| 9108 |SDAE!)—h—F 22,692 52,144
31| 9ABH |EHAMKE 3,411 55,555
32| 9148 |aE—R#& 4,448 60,003
34| 9A17TH|EBHERE 2,457 62,460
35| 9A18H |EHBAARE 3,600 66,060
36| 9F24H |EHBHERE 370 66,430
37| 9A28H |EHBHAARE 308 66,738
70| 10A8H [aE—R#RK 744 67,482
71[10 8 12 B |[xofk—rmw—n— €77 967 68,449
721108128 |5~V —)LK 533 68,982
73|10H 268 |SDA—K)—45— 2,798 71,780
30|10A278H |53—x—%5— 29,500 101,280
33({10A278 |72 R—2—T1ILLs 6,860 108,140
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zzgs| AH SES IRA X H RE(RED | BE
74| 1148 |#t<—h— 7—TDY 1,266 109,406
75| 1MATB|TF5h—kIvP 3,579 112,985
76|11 H 23 B |[KAbA b, ssR—F—n— 1,280 114,265
77| 12A98 |[p-7#s—.27-75— va—r— 2,340 116,605
78| 12A9B|(T—7 DY 247 116,852
19[12B11B |74V LRaVR 9,796 122,648
80[12H 228 |/\YZ, Ry 3,212 125,860
81|128 228 [FLto7—arvwz 20,520 146,380
82(12 258 | BT — R 18,154 164,534
83|12 827 H |office365 981 165,515
84(12H30H |#m&ERAPCY Ik 10,872 176,387
8512/ 308 |V)v T 1,466 177,853
107| 1A12B|EHEARK 7,840 185,693
108| 1A12B|EHEAMRK 5115 190,808
109| 1A14B|EHEARRK 1,702 192,510
110| 1H27H|office365(1 A %) 990 193,500
11| 1A298 |EHEARRK 21,296 214,796
112| 2A3B|EHEA&K 16,655 231,451
113| 2F78|aE—#~r—& 22,095 253,546
114| 2H27H |office365(2 A %) 990 254,536
115 3R9IB|TIRILAATH 64,251 318,787
116| 3H27H |office365(3 A %) 990 319,777
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zR%s| HH ES I'YN X H e (RED | BE
3| 4B 230 |FEEGEN 45 4,400 4,400
4 6A1H|#HEEHEM 5AS 4,400 8,800
5| 68230 |#EEGER 6% 4,400 13,200
38| 7A268 (FEAEZH(7TAD) 4,400 17,600
39| 9A 248 (#FFEESM (9A D) 4,400 22,000
86(10A 231 (#EfEEH (10A 5) 4,400 26,400
87(11 A 2518 |#EEFH (11A D) 4,400 30,800
88(12H 268 |#EK (12A %) 4,400 35,200
17| 1B25H |#EEHEM (A 4,400 39,600
118| 2H22H |#EAEFH (2A5) 4,400 44,000
119| 3R 248 |#EEZEM(SAR) 4,400 48,400
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£
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6| 4A20H | EENWBIER 10,000 10,000
7| 4B 238 |B#HESMHBIEH 10,000 20,000
8| 4R30H |HFEEENMBIER 10,000 30,000
9| 5A208 | EEIHBIER 10,000 40,000
10| 5H 258 |BFESNFHBIE 10,000 90,000
11| 5A318 |RFE EFEHBMER 10,000 60,000
12| 6 H258 |[BFBEDNWHENER 10,000 70,000
13| 6A288 | EEIHBIER 10,000 80,000
14| 6 308 |BFEENFHBIE 10,000 90,000
40| 7H26H | B EEWENE 10,000 100,000
41| TH28H | EENWHBIE 10,000 110,000
42| 7R30H | EENWENE 10,000 120,000
43| 8A27H |HMFEEE MBI E 10,000 130,000
44| 8R30H |HFEEEN BN E 10,000 140,000
45| 8A31H |HMEEENWBNE 10,000 150,000
46| 9R27H | EEN BN E 10,000 160,000
47| 9R29H | EE BN E 10,000 170,000
48| 9R30H | EEN BN E 10,000 180,000
89| 10A9H | AEEENFHEN 10,000 190,000
90(10 A 198 | RAE B SN/ BN 10,000 200,000
91|10 A 308 | A E B ENF#HBY 10,000 210,000
92| 11 A6H | RAEESNMEN 10,000 220,000
93|11 A 138 | AR EEN#H B 10,000 230,000
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zpgs AH SES IR A X e (RFD | EE
94(11 A 27H |7 REEENHEN 10,000 240,000
95|12 A 11 B | AR EEN#HBE 10,000 250,000
96|12 A 25H | RAE B SN BN 10,000 260,000
97(12A 298 | BRI A EENFHEN 10,000 270,000
120| 1A 158 | AEFEIHE 10,000 280,000
121| 1A 258 | RAEEENFHB 10,000 290,000
122| 1A298 | AEFEIHE 10,000 300,000
123| 2A5H|HMHERAEFSNFHE 10,000 310,000
124| 28128 | AEFEIHE 10,000 320,000
125| 2208 |5 RE EENFHB 10,000 330,000
126| 3A5H |BFEAEFEIHE 10,000 340,000
127| 3R 128 | RAE FEENFHBN 10,000 350,000
128| 3A 218 |MFEAEFEIHEN 10,000 360,000
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(1. 0% 2. WA ®. XH) 10 | B |1F#mEE 088
£
zR%s| HH ES I'YN X H e (RED | BE
15| 4858 |AVIHRELT 3,000 3,000
16| 589H|AVIARELT 2,812 5812
18| 5A31BA|AVIHRELT 4,275 10,087
20| 6128 |AVIRELT 3,000 13,087
49| 7R9BH|AVIVHK 3,000 16,087
17| 7B 128 |#gsreLcLcaRRAS) 2,899 18,986
50| 7TRA218(AVI A 3,075 22,061
51| 7H248|A V)4 3,300 25,361
52| 8A6H|AVUUA 3,450 28,811
53| 8HTH|AVIUK 2,990 31,801
19| 8A10H |#%EEHELTEAS 5,010 36,811
54 8F218|AVIAK 3,307 40,118
55| 9@7H|(AVIUA 4,282 44,400
56| 9A 108 [EEEEKE(GAS) 3,339 47,739
57| 9A15B AV A 3,225 50,964
58| 9H258|A V)AL 3,300 54,264
98| 10848 (AVI A 3,412 57,676
59|10 A 118 [E#EEKE(TAS) 3,444 61,120
99|10A16H AV 3,900 65,020
100{ 108208 |A V1K 3,337 68,357
60|11 B 108 [#EHEZFERE(BAM) 4,237 72,594
101|11 8158 |AV) 4K 3,937 76,531
102|11B198|AVIHK 630 77,161
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zzgs| AH NE IRA X H AE (RED | BE
103| 12A68|AV)UK 3,862 81,023
104|128 108 |#%EZEFAKH(9A) 3,470 84,493
105(128 128 |AV) K 4,290 88,783
106128288 |V 3,450 92,233
129 1RA58|AVIUK 2,587 94,820
130| 1A10B|AVIAK 4,200 99,020
131 1A 118 |#%EE/ARO0AS) 3,633 102,653
132| 1A278|AVI A 3,187 105,840
133| 1R31B|AVIUHK 4,462 110,302
134 2R58|AVIUK 1,237 111,539
135 2B 108 |#E#EEMAHA1AD) 3,467 115,006
136| 28108 |AVIAK 3,787 118,793
137| 2R198|AVIHK 3,900 122,693
138 3A6B|AVIUK 1,500 124,193
139 3R 100 |EsEZRAN(12A5) 4,623 128,816
140| 38158 |AVIAK 4,050 132,866
141 3A16B AV 2,991 135,857
142| 38278 |AVI)AK 3,862 139,719
143| 48118 |#%EEMAHOAD) 3,880 143,599
144| 5H108 |EHEEAAH2AS) 5,034 148,633
145 6 B |iE%EEMAHGAS) 4,263 152,896
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146| 2B9A|xF—LSvHRELT 14,198 14,198
147| 2A108|A T4 RFz7—H 30,050 44,248
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